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For the sake of contradiction , assume

that not every DAG has
a node w/

-

no incoming edges.

Let G be such a DAG where everynode has at least one incoming edge .

stat at any nodevo in G.

since to has an entery eage,
follow backwards to VI .

Since v , has entering edge,follow to V2
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Every DAG has at least one nodew/ no incomingedges .

How can you use claim above to
wate an alg . for topo sort on a
DAG ?

toposon /DAGG) :

while modes in G :

find a moder w/ no incoming
edges
put it

in topo order


